Form A

First Name:
Last Name:

1)

3)

5)

Which of the statements is true?
P: The base in 52is 5.
Q : The base in -37is -3.

a)P only

b)Q only
c)Both P and Q

d)Neither P nor Q

Evaluate:
al2 pll. gl1 pl4

a)ab*s
b)a23, h2S

c)a22. 25

d)a?2, 26
Simplify : ( 6A3)2
a)364°

b) 124"

c)6A°

d)g4°

Worksheet-5
MTH-05: Elementary Algebra (Exponents & Polyvnomials)

4)

6)

2) Simplify : x®- x3 - x

a)x9

b)x15
15"

d)x®

Simplify : (5A%)2
a)54°

b)254°

c)254°

d)54°

Use the rules for exponents to

(15a)°

simplify : (Qb) 5
(Sa)
(Sb)

)45

25.;'1
“ op?

25a
D81b
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Form A

7) Simplify: 8) Which of the following statements
(x2y3)*4 is true?
P : The variable part of 7x3 is x3.
a)x16y81 Q : The expression -4x? has only
one term.
b) 8y 12
)Xy a)P only
6,,7
€) x%y b)Q only
d)xoy12 c)Both P and Q

d)Neither P and Q

9) Find the value of 3x%-5x2 + x - 3 10) simplify : (5x3 - 3x2 + 3x) + (-2x3
when x =-2. + 8x-2)
a)23 a)8x" - 5x° + 6%
b)-23

b)3x’ + 33>+ 11x-2

c) 64
) )2: - 352 + 5x+ 2
d)72
d)3x’ - 35"+ 11x-2
11) Add the polynomials: 6x° - x* + 12) Gimplify : (-2x2+ x + 5) - (4x2 -
4x2 + 8x and -9x° + 2x% - 3x2 - x - 2x + 3)
2

a)-6x" -x"+2

a)-3x" -xt-x"+T7x-2
b)2x% - ¢+ 8
b) - 3x” +xT+ x>+ Tx-2
) -6x°+3x+2
A)15x° + 32" -7x>+9x -2 .
dex +3x°+8

d) - 15x° -3x* - 73>+ 9x -2
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Form A
13)

15)

17)

19)

Simplify : 3x - 3(3 - 2x)

a)-3x -9
b)ox - 9
C)9x + 9

d)-3x + 9

Simplify : (3y” + 7y° + 4y3 - 3y - 6)
-(-2y? + 2y° + 3y + 7)

a)5y7 + 5y° + 4y3 - 6y + 31
b)sy” + 5y> + 4y* - 6y - 13
c)5y7 + 5y° + 4y + 6y + 13

d)sy” + 5y° + 4y - 6y - 13
Multiply : a3(3a + 2)

364"
b) 54"
34" +2

d)34*+ 24°

Perform the indicated operations :
-3r3(r* - 4r? + 3r- 1)

a) =375 -4 + 37+ 1
b) - 347 +12#°-97° - 1
A -3+ 127 - 9054+ 34

d) =377 - 4%+ 377 -1

14)

16)

18)

20)

Simplify : (3x2-2x+5) - (2x2 +
2x - 3)

a)x’-4x+8
b)5x> + 2
) -x*-4x° +8

dx* - 4x* -2
Multiply : 2a(5a - 3)

a)304"

b) - 304°
)10a” - 3
d)104” - 6a

Multiply : -2y2(3y2- 2y + 1)
a) - 63" - 2y + 1

b) - 63" + 4y° - 2y°

Q) -6y +4dy-2

d) - 63 - 2y + 1

Multiply : (3w + 1) (w?2- 2w + 5)
a)3w’ +5w- + 13w+ 5
b)3u° - 5w + 13w+ 5

3w’ - 2w+ 5

d)3w”° - 6w + 5
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Form A
21)

23)

25)

27)

Multiply x2 + 4x - 5 by 2x3 - 3x
a)2x® + 8x% - 13x° - 12x% + 15x
b)2x5 + 8x* - 13x3 - 12x2 - 15x
€) 2x° + 8x* - 7x® - 12x% + 15x
d)2x> + 8x* - 13x3 - 12x2 + 15
Multiply : (x - 3y)(x + 3y)

a)x” - 3Xy

b)x” - 9y°

x>+ 9y2

d)x* - 6°

(x+8)(x-8) =

a)x” - 16x + 64

b)x® + 16x - 64

) x* - 64

d)x* + 64

Simplify: (-2)2

a)8

1

b)8
1

c) 3

d) -8

22)

24)

26)

28)

Multiply : (1 - x)(1 - x)

a)xz-erl

b)x? - 2% + 1
Q) -x>+2x-1

d)x®-2x-1
(3y? +2)? =

a)9y4 +4
b)9y* - 4
) 9y* + 6y° + 4

d)9y* + 12y + 4

(3x3 - 8y) (3x® + 8y) =
a)9x° + 64y°

b)9x° + 48x°y + 64y°
) 9x° - 48x°y + 64y°
d)9x° - 64y°

Simplify: (_—3

3)
a)27
b) - 27
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Form A

29) Perform the indicated operations :

31)

33)

T’ - 56" + 32w°

- 8w°
a) - 9w - Tw” - 4w
b) - 0w’ + Tw* - dw
) - 9w+ Tw -4
Dow? - Tw® + 4w

SimPIiW the following expression :
16m - 120" + 4 + Bm - 9

dm- -

a) m
2 2m - 9
bydm™ - 3m + | + &5 =2
) (dm’)
odm - 3m + m - 9
(4m°)
d}flm'n' = 3dm 1t - 412

Write 0.000453 in scentific
notation.

a)4.53 x 10°
b)4.53 x 10°*
c) 453 x 10"
d).453 x 107°

30)

32)

34)

Perform the indicated
operations : (18x° - 66x° - 54x +
42) = (6x2)

3% -12x- 2 +

D

7
2

9, 7
X xE

3% - 11x -
A)3x°-12-9x°+ 7x°
d)3x°-11-9x°+ 7x°

Write 3,210,000 in scentific
notation.

a)3.21 x 10°
b)3.21 x 10°
)3.21 x 10°°
d)3.21 % 10’

Convert the following to saentific
notation.
42.39

a)4.239 x 1072
b)4239 x 102
€)4.239 x 101

d)4.239 x 1071
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35) cConvert 6.3 x 103 to a number
without exponents.

a)6,300
b)63,000
c)0.063

d)0.0063

37) Simplify and write without
exponents :
(2.3 x10%) x (3.6 x 1079)
a)8.28
b)8,280
c) 828

d)82.8

39) Evaluate and use sdentific
notation in your answer :

(1.0 x 10%) - (3.0 x 10%)
a)97 x 107
b)9.7 x 10°
)2 x 10"
d)9.7 x 10°

36)

38)

40)

Convert 3.72 x 10" 2 to a number
without exponents.

a).0000372
b).000372
c) 37,200

d)3,720

Simplify and write without

44=10""°

exponents : - =
p 25 10°

a)0.00176
b)0.0000176
c)1.76

d)176,000

Light travels 300,000,000 meters
per second. A light year
isthedistance that light travels in
one year. Use scientific
notationtoexpress the number of
meters traveled in two light year.

a)0.4608 x 10"
b)18.9216 % 10"
)1.89216 x 10'°
d)18.9 x 10"
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Form A

MTH-05: Elementary Algebra (Exponents & Polynomials)
Answer Keys

1)
3)

&)

7)
9)
11)
13)
15)

17)

19)

21)

23)

25)

27)

29)

31)

Worksheet-5

a)P only

b)a23_ b25

a)364°

b) x8y12

a)23

b) - 3x° +x"+ x>+ T7x-2

b)ox - 9

d)sy” + 5y° + 4y® - 6y - 13
d)3q* +24°

) -3r°4+ 127 - 97" +37°
a)2x° + 8x* - 13x% - 12x? + 15x
b)x” - 9y

)x* - 64

c) - %

b) - Oy” + Tw’” - 4w

Z-o

d)flm'n' -3m + 1 +

a)x

) )254°

6)

8)

10)
12)
14)
16)

18)

20)

22)

24)

26)

28)

30)

32)

254°
0p°

c)Both P and

c)

d)3x° -3x° + 11x-2

A)-6x>+3x+2

a)x” - 4x+ 8

d)104” - 6a

b) - 63" + dy” - 2y°

b)31° - S+ 13w+ 5

b)x? - 2% + 1

d)9y* + 12y + 4

d)9x° - 64y”
b) - 27

3% - 11x -

b)3.21 x 10°

9

X

+

i
2
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Form A
33)

35)
37)

39)

b)4.53 x 10°*
a)6,300

c)828

d)9.7 x 10°

34)
36)
38)

40)

€)4.239 x 10t
a).0000372

b)0.0000176

)1.89216 x
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